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01 At22t2lt] 3,500 3,500
OAEII el 3,500
OAEI| HIIZAL SIS 1,500
OAEI| FIIZA e2ES HH
5003 *1,0000HK 500
OAHZI| HIIZA 828 s+ &1
100,000 * 1504 1,500
AU A KA 28,843 25,525 3,318
101 @124H| 14,843 12,525 2,318
M ORIMZZ2NSE S 14,843 12,525 2,318
OStTEfZL A 2| 22X 1| 14,843
oJlzs 986,000 «1H* 112 10,846
OFs=g 39,4403 x 18 =48 1,894
Odxt=< 30,4403 18 %10 3%
@ZIN k= ¥=3 13,133,520 *13% 1,708
201 Ler23| 14,000 13,000 1,000
01 At2teltl 3,000 4,000 21,000
Otfefed A Ubt=ZH| 3,000
02 S3=gHl 11,000 9,000 2,000
O UM A AIZEHl KA 3,000
OHZZLdA FFU
4,000,000& 22 8,000
NASS HIIAE WA 21,000 25,000 24,000
= 6,300
o 14,700
401 AIEHIX SO 21,000 0 21,000




A ZHOIED
M UK =35 &4
=2l OUXIESF & et 2t (EEEE))

=

[

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2

6,300
14,700

A H

01 A=l 21,000 0 21,000
(OFSPIVNF~JRIFSESRs 21,000
6,300
14,700

M H

QHEFAAHAS &It Ol QtEAIE X2 A 3,573 3,439 134
1,072
2,501

M

201 =3 3,573 3,439 134
1,072
2,501

MO

01 AtR2telbl 3,573 3,439 134

357,300 *100H 3,573
1,072
2,501

M H

DET ZAIDIA SSAHY 750,000 1,070,000 A320,000
150,000
600,000

M

g
N
o
r
T
ra
[}
>

750,000 1,070,000 A320,000
150,000
600,000

M

02 QIINEAISEE X (0IETHE) 750,000 1,070,000 A320,000
O1dE ZADIA S=ti2 XIFA 750,000
150,000
600,000

M H

FHAANZE HUEHXISRIAIS 40,000 34,000 6,000
28,000
12,000

M

401 AlEHIZ S 0HbI 40,000 34,000 6,000
28,000
12,000

M A

=Ll 40,000 34,000 6,000
AHE N8 TF WA 40,000

28,000
12,000

M A

ATHAEONH X FEXRALS 183,600 183,600 0
51,600
132,000

M H

402 SIZERHE0| M 183,600 183,600 0
51,600
132,000

UMY




2A:

X XH -
o=

HRIOID
EPNES=R-
OILAKIZS © QHE2

=

[

ol L otz (Sl &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 QI X2 AL EE(OIETHE) 183,600 183,600 0
OXTHAOIH X =ERXI A
1,224, 0002 * 1500} 183,600
= 51,600
Ea 132,000
ATHAUE X HEXSALS 6,000 10,000 24,000
== 3,000
o 3,000
402 2I2E X201 & 6,000 10,000 24,000
< 3,000
= 3,000
02 QI X2 AL EE(OIHTHE) 6,000 10,000 24,000
O=A S A2 ATHYUUR ESAHY 6,000
= 3,000
= 3,000
LPGE I ALEJE AIEIHE AL 22,500 22,500 0
= 11,250
s 11,250
403 AXIEHHSAH=201H 22,500 22,500 0
= 11,250
[Ea 11,250
02 SI12S0ItH et =& 2 €A I 22,500 22,500 0
OLPGEI| AHEIt7 AIEIHS
225,000 =100 Al CH 22,500
= 11,250
= 11,250
148 HEXS3A 1,374,000 1,886,000 /512,000
= 519,000
o 855,000
403 XIS A=201E 1,374,000 1,886,000 A512,000
= 519,000
o 855,000
02 S 2SS0t et =& 2 €A | 1,374,000 1,886,000 /512,000
OLHNE Sa=2 NS3 At 1,374,000
= 519,000
s 865,000
ot =k=2=tdlE =2 220,000 130,000 90,000
307 el2tol & 220,000 130,000 90,000
05 2I2tRIE =S 220,000 130,000 90,000
Odted=i=2=tdH =29 220,000
EIN ] =SS B PN 18,500 20,000 1,500
LA XGRS 2 18,500 20,000 21,500
s =2¢ 18,500 20,000 21,500
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SA ZHOIS
¥ HRES(3HOIEH)

=aak LH:;SHNE (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
E W PN 1,340,112 1,130,000 210,112
AHEREE SEIH dE= 1,335,112 1,125,000 210,112
701 JIEtRI HSHES 1,335,112 1,125,000 210,112
01 JIEI=I AN ES 1,335,112 1,125,000 210,112
OLIEHANEEHAIESEEIH dES 1,335,112
SMIBFEGN= SEIH dES 5,000 5,000
701 JIEtRI HSHES 5,000 5,000
01 JIEt=I AN ES 5,000 5,000
OSAINIESEN=SSEINH HE=(S1E
S ArAHI) 5,000
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